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For rough work dPps dk;Z ds fy,

KELVINCLASS X STUDYING

1. In series combination, total resistance(1) decreases(2) increases(3) may decrease or increases according to thesituation(4) no particular observation2. A neutral body has(1) Both types of positive and negative charges(2) Only positive charge(3) Only negative chare(4) No charge at all3. A parallel beam of light falling on the eye getsfocused on the retina because of refractions at(1) the cornea(2) the crystalline lens(3) the vitreous humor(4) various surfaces in the eye4. Which of the following can be used to form a virtualimage of an object ?I. convex lensII. concave lensIII. concave mirror(1) II only(2) II and III only(3) I and III only(4) I, II and III

1. Js.kh la;kstu esa] dqy izfrjks/k(1) ?kVrk gS(2) c<+rk gS(3) ifjfLFkfr ds vuqlkj ?kV ;k c<+ ldrk gS(4) dksbZ fuf'pr izs{k.k ugha g2. mnklhu oLrq esa gksrk gS(1) èkukRed rFkk _.kkRed nksuksa izdkj ds vkos'k(3) dsoy èkukRed vkos'k(2) dsoy _.kkRed vkos'k(4) dksbZ vkos'k ugha3. us= ij fxjrk gqvk izdk'k dk ,d lekUrj iqat us= ds
fdl Hkkx ij viorZu ds dkj.k jsfVuk ij Qksdflr
gksrk gS\(1) dkWfuZ;k ij(2) fØLVyh; ysUl ij(3) dkpkHk nzo ij(4) us= esa fofHkUu lrgksa ij4. ,d oLrq dk vkHkklh izfrfcEc fufeZr djus ds fy, fuEu
esa ls fdls iz;qDr fd;k tk ldrk gS\I. mÙky ysUlII. vory ysUlIII. vory niZ.k(1) dsoy II(2) dsoy II rFkk III(3) dsoy I rFkk III(4) I, II rFkk III

SECTION ¼[k.M½& I
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For rough work dPps dk;Z ds fy,

KELVIN CLASS X STUDYING5. In a museum a child walks towards a large concavemirror. He will see that(1) his real, erect image goes on decreasing insize.(2) his virtual, erect image goes on increasingin size.(3) his real, inverted image goes on diminishingin size and suddenly it becomes virtual, erectand magnified.(4) his real, erect image goes on diminishing insize and suddenly it becomes virtual, erectand  magnified.6. Fe2O3 + 2Al  Al2O3 + 2 FeThe above reaction is an example of a(1) Combination reaction(2) Double displacement reaction(3) Decomposition reaction(4) Displacement reaction7. Choose the correct order of stochiometriccoefficient for balancing the given equation.Pb(NO3)2(s) Heat  PbO(s) + NO2(g) + O2(g)(1) 2, 2, 2, 1 (2) 2, 2, 4, 1(3) 1, 2, 4, 1 (4) 2, 1, 4, 28. An element reacts with oxygen to give a compoundwith a high melting point. This compound is alsosoluble in water. The element is likely to be(1) Calcium (2) Carbon(3) Silicon (4) Iron

5. ,d laxzgky; esa ,d cPpk cM+s vory niZ.k dh vksj

tkrk gSA og ns[ksxk fd(1) mlds okLrfod] lhèks izfrfcEc dk vkdkj ?kVrk

tkrk gS(2) mlds vkHkklh] lhèks izfrfcEc dk vkdkj c<+rk

tkrk gS(3) mlds okLrfod] mYVs izfrfcEc dk vkdkj NksVk

gksrk tkrk gS rFkk ;g vpkud vkHkklh] lhèkk o

vkofèkZr gks tkrk gS(4) mlds okLrfod] lhèks izfrfcEc dk vkdkj NksVk

gksrk tkrk gS rFkk ;g vpkud vkHkklh] lhèkk o

vkofèkZr gks tkrk gS6. Fe2O3 + 2Al  Al2O3 + 2 Fe

mijksDr vfHkfØ;k ,d mnkgj.k gS(1) la;kstu vfHkfØ;k dk(2) f}foLFkkiu vfHkfØ;k dk(3) vi?kVu vfHkfØ;k dk(4) foLFkkiu vfHkfØ;k dk7. uhps nh x;h lehdj.k dks lUrqfyr djus esa iz;qDr
jllehdj.kferh; xq.kkadksa ds lgh Øe dk p;u dhft,A

Pb(NO3)2(s) Å"ek  PbO(s) + NO2(g) + O2(g)(1) 2, 2, 2, 1 (2) 2, 2, 4, 1(3) 1, 2, 4, 1 (4) 2, 1, 4, 28. ,d rRo vkWDlhtu ds lkFk fØ;k djds ,d mPp

xyukad okyk ;kSfxd nsrk gSA ;g ;kSfxd ty esa Hkh

foys;'khy gksrk gSA og rRo lEHkor% gS(1) dSfYl;e (2) dkcZu(3) flfydu (4) vk;ju
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For rough work dPps dk;Z ds fy,

KELVINCLASS X STUDYING9. Choose the correct reactivity order of given metalswith dilute hydrochloric acid(1) Mg > Al > Zn > Fe(2) Fe > Al > Zn > Mg(3) Fe > Zn > Mg > Al(4) Al > Zn > Mg > Fe10. Match the following columns and choose thecorrect option.Column­I Column­II(Compound) (Water ofCrystallisation)a. Plaster of paris (i) 10b. Gypsum (ii) 2c. Hydrated CuSO4 (iii) 1
2d. Washing soda (iv) 5(1) a(iii), b(ii), c(i), d(iv)(2) a(i), b(ii), c(iii), d(iv)(3) a(iv), b(iii), c(ii), d(i)(4) a(iii), b(ii), c(iv), d(i)11. Which one of the endocrine glands in known asmaster gland?(1) Pituitary gland (2) Adrenal gland(3) Thyroid gland (4) Parathyroid gland12. The xylem in plants are responsible for(1) Transport of water(2) Transport of food(3) Transport of amino acid(4) Transport of O213. Which of the following is a growth inhibitorhormone?(1) Cytokinin (2) Gibberellin(3) Auxin (4) Abscisic acid

9. uhps nh xbZ èkkrqvksa dh ruq gkbMªksDyksfjd vEy ds lkFk
fØ;k'khyrk ds lgh Øe dk p;u dhft;s(1) Mg > Al > Zn > Fe(2) Fe > Al > Zn > Mg(3) Fe > Zn > Mg > Al(4) Al > Zn > Mg > Fe10. fuEufyf[kr dkWye dks lqesfyr dhft, rFkk lgh fodYi
dk p;u dhft;sA

dkWye-I dkWye-II
(;kSfxd) (fØLVyh; ty)

a. IykLVj vkWQ isfjl (i) 10
b. ftIle (ii) 2

c. ty;ksftr CuSO4 (iii)
1
2

d. èkkou lksMk (iv) 5(1) a(iii), b(ii), c(i), d(iv)(2) a(i), b(ii), c(iii), d(iv)(3) a(iv), b(iii), c(ii), d(i)(4) a(iii), b(ii), c(iv), d(i)11. dkSulh vUr%lzkoh xzafFk ekLVj xzafFk dgykrh gS\(1) ih;w"k xzafFk (2) ,Mªhuy xzafFk(3) FkkbjkWbM xzafFk (4) iSjkFkkbjkWbM xzafFk12. ikniksa esa tkbye fdlds fy, mÙkjnk;h gS\(1) ty ds ifjogu esa(2) [kk| ds ifjogu esa(3) vehuksa vEy ds ifjogu esa(4) vkWDlhtu ds ifjogu esa13. fuEufyf[kr esa ls dkSulk o`f) fujksèkd gkWeksZu gS\(1) lkbVksdkbfuu (2) ftcjsfyu(3) vkWfDlu (4) ,fClfld vEy
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For rough work dPps dk;Z ds fy,

KELVIN CLASS X STUDYING14. The normal blood pressure of healthy human is
(1) 120 mm (Systolic pressure)

80 mm (Diastolic pressure)

(2) 180 mm (Systolic pressure)
120 mm (Diastolic pressure)

(3) 100 mm (Systolic pressure)
80 mm (Diastolic pressure)

(4) 80 mm (Diastolic pressure)
120 mm (Systolic pressure)15. How many contrasting traits of pea were studiedby mendel  :­(1) Two (2) Four(3) Seven (4) Three16. If pth, qth and rth term of an A.P. are a,b,c respectively,then a(q – r) + b(r – p) + c(p – q) is(1) 0 (2) 2(3) 3 (4) 117. If the H.C.F. of 657 and 963 is expressible in theform 657x + 963 × (–15), find x.(1) 21 (2) 22(3) 25 (4) 2818. Find the sum of all three digit natural numbers.Which are divisible by 7.(1) 70, 336 (2) 40, 505(3) 20, 211 (4) 70, 302

14. ,d LoLFk euq"; dk lkekU; jDr nkc gksrk gS

(1) 120 mm ( )
80 mm ( )

flLVksfyd nkc
Mk;LVkfs yd nkc

(2) 180 mm ( )
120 mm ( )

flLVksfyd nkc
Mk;LVkfs yd nkc

(3) 100 mm ( )
80 mm ( )

flLVksfyd nkc
Mk;LVkfs yd nkc

(4) 80 mm ( )  
120 mm ( )

Mk;LVksfyd nkc
flLVkfs yd nkc15. es.My ds }kjk eVj ds fdrus foi;kZlh y{k.kksa dk

vè;;u fd;k Fkk\(1) nks (2) pkj(3) lkr (4) rhu

16. ;fn A.P. dk pok¡, qok¡ o rok¡ in Øe'k%  a, b, c gS] rca(q – r) + b(r – p) + c(p – q)(1) 0 (2) 2(3) 3 (4) 117. ;fn 657 o 963 dk H.C.F, 657x + 963 × (–15) :i esa
iznf'kZr gS] rc x Kkr dhft,A(1) 21 (2) 22(3) 25 (4) 2818. rhu vad dh mu lHkh izkÑr la[;kvksa dk ;ksx Kkr
dhft,] tks 7 ls HkkT; gksaA(1) 70, 336 (2) 40, 505(3) 20, 211 (4) 70, 302
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For rough work dPps dk;Z ds fy,

KELVINCLASS X STUDYING

19. If 4x
3  is a root of the polynomial f(x) = 6x3– 11x2 + kx – 20 then find the value of k.(1) 17 (2) 18(3) 20 (4) 1920. Find the value of k for which the system of linearequationkx + 4y = k – 416x + ky = k has infinite solution.(1) 8 (2) 7(3) 6 (4) 521. In the given figure, ABC = 900 and BM is amedian, AB = 8 cm and BC = 6 cm. Then, lengthBM is equal to:

(1) 3 cm (2) 4 cm(3) 5 cm (4) 7 cm22. If and  are the zeros of the polynomial
f(x) = 15x2 – 5x + 6 then 1 11 1 is equal to
(1) 13

3 (2) 13
2

(3) 16
3 (4) 15

2

19. ;fn
4x
3 cgqin f(x) = 6x3 – 11x2 + kx – 20 dk ,d

ewy gS] rc k dk eku Kkr dhft,A(1) 17 (2) 18(3) 20 (4) 1920. k dk eku Kkr dhft, ftlds fy, js[kh; lehdj.k ds
fudk;kx + 4y = k – 416x + ky = k ds vuUr gy gksaA(1) 8 (2) 7(3) 6 (4) 521. fn;s x;s fp= esa] ABC = 900 rFkk BM ekfè;dk gS] AB

= 8 cm rFkk BC = 6 cm gS] rc yEckbZ BM gS%

(1) 3 cm (2) 4 cm(3) 5 cm (4) 7 cm22. ;fn rFkk cgqin f(x) = 15x2 – 5x + 6 ds 'kwU; gSa] rc

1 11 1 gS

(1) 13
3 (2) 13

2

(3) 16
3 (4) 15

2
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For rough work dPps dk;Z ds fy,

KELVIN CLASS X STUDYING23. If and  are the zeros of the quadraticicpolynomial p(s) = 3s2 – 6s + 4, find the value of
3112

(1) 12 (2) 10(3) 14 (4) 824. If  sin q + cos q = m and sec q + cosec q = n, thenn(m2 – 1)(1) 1m (2) 3m(3) 2m (4) 4m25. 8 man and 12 boys can finish is a piece of work in10 days while 6 man and 8 boys can finish it in 14days. Find the time taken by one men alone andthat by one boy alone to finish the work .(1) 140 days and 280 days(2) 145 days and 260 days(3) 150 days and 285 days(4) 163 days and 283 days

26. Fill in the blank25, 49, 81 .....169, 225(1) 101 (2) 111(3) 121 (4) 14927. Find out the missing number25, 125, 625, 3125, 15625, ?(1) 78125 (2) 87125(3) 178251 (4) 52187

23. ;fn rFkk f}?kkr cgqin p(s) = 3s2 – 6s + 4 ds

'kwU; gSa] rc 3112 dk eku

Kkr dhft,(1) 12 (2) 10(3) 14 (4) 824. ;fn  sin + cos = m rFkk sec + cosec  = n, rc
n(m2 – 1) =
(1) 1m (2) 3m
(3) 2m (4) 4m25. 8 vkneh rFkk 12 yM+ds ,d dk;Z dks 10 fnu esa iwjk dj

ldrs gSa tcfd 6 vkneh vkSj 8 yM+ds mlh dk;Z dks 14

fnu esa iwjk dj ldrs gSaA bl dk;Z dks iwjk djus ds fy,

dsoy ,d vkneh o dsoy ,d yM+ds }kjk fy;s x;s

le; Øe'k% gSa(1) 140 fnu rFkk  280 fnu(2) 145 fnu rFkk  260 fnu(3) 150 fnu rFkk  285 fnu(4) 163 fnu rFkk  283 fnu

26. fjDr LFkku Òfj;s25, 49, 81 .....169, 225(1) 101 (2) 111(3) 121 (4) 14927. yqIr la[;k Kkr dhft,25, 125, 625, 3125, 15625, ?(1) 78125 (2) 87125(3) 178251 (4) 52187

SECTION ¼[k.M½& II
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For rough work dPps dk;Z ds fy,

KELVINCLASS X STUDYING28. Find out the missing number
(1) 238 (2) 248(3) 384 (4) 38929. Find out the missing number3, 6, 18, 72, ?(1) 144 (2) 216(3) 288 (4) 36030. Find out the missing number20, 19, 17, ....., 10, 5(1) 12 (2) 13(3) 14 (4) 1531. Find out the missing number

(1) 69 (2) 93(3) 99 (4) None of these32. If 'DOCTOR' is written as 'BQAVMT' then 'WRITER'will be written as(1) UTGVCT (2) YTKVGT(3) UPGRCP (4) YPKRCP33. If 'HAPPY' is written as '51223' then 'PAHPY' willbe written as(1) 21253 (2) 21235(3) 21523 (4) 52123

28. yqIr la[;k Kkr dhft,

(1) 238 (2) 248(3) 384 (4) 38929. yqIr la[;k Kkr dhft, %3, 6, 18, 72, ?(1) 144 (2) 216(3) 288 (4) 36030. yqIr la[;k Kkr dhft, %20, 19, 17, ....., 10, 5(1) 12 (2) 13(3) 14 (4) 1531. yqIr la[;k Kkr dhft, %

(1) 69 (2) 93(3) 99 (4) buesa ls dksbZ ugha32. ;fn 'DOCTOR'  dks 'BQAVMT' fy[kk tkrk gS rks

'WRITER' dks fy[kk tk;sxk(1) UTGVCT (2) YTKVGT(3) UPGRCP (4) YPKRCP33. ;fn 'HAPPY'  dks '51223' fy[kk tkrk gS rks 'PAHPY' dks

fy[kk tk;sxk(1) 21253 (2) 21235(3) 21523 (4) 52123
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For rough work dPps dk;Z ds fy,

KELVIN CLASS X STUDYING34. How many times hand of clock overlaps in a day?(1) 22 (2) 21(3) 20 (4) 2435. In a certain code if 'PEN' = 35 and 'HEN' = 27 then'MEN' = ?(1) 30 (2) 32(3) 36 (4) 3936. If 'air' is called 'green', 'green' is called 'blue', 'blue'is called 'sky', 'sky' is called 'yellow', 'yellow' is called'water', 'water' is called 'pink' then what is thecolour of 'sky'?(1) Blue (2) Sky(3) Yellow (4) Water37. Which of the following figure representrelationship among a family, son and daughter?
(1)
(2)
(3)
(4)

38. Find out the missing number3, 6, 18, 72, ?(1) 360 (2) 350(3) 380 (4) 260

34. ?kM+h dh lqbZ;k¡ fnu esa fdruh ckj ,d lkFk gksrh gSa\(1) 22 (2) 21(3) 20 (4) 2435. fdlh dksM esa ;fn 'PEN' = 35 rFkk 'HEN' = 27 gS] rks'MEN' = ?(1) 30 (2) 32(3) 36 (4) 3936. ;fn ̂ok;q* dks ̂gjk* dgk tk;s] ̂gjs* dks ̂uhyk* dgk tk;s]
^uhys* dks ̂vkdk'k* dgk tk;s] ̂vkdk'k* dks ̂ ihyk* dgk
tk;s] ̂ ihys* dks ̂ty* dgk tk;s] ̂ty* dks ̂xqykch* dgk
tk;s] rks ^vkdk'k* dk jax D;k gS\(1) uhyk (2) vkdk'k(3) ihyk (4) ty37. fuEufyf[kr esa ls dkSulh vkÑfr ,d ifjokj] iq= rFkk
iq=h esa lEcUèk dks n'kkZrh gS\

(1)
(2)
(3)
(4)

38. yqIr la[;k Kkr dhft, %3, 6, 18, 72, ?(1) 360 (2) 350(3) 380 (4) 260
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For rough work dPps dk;Z ds fy,

KELVINCLASS X STUDYING39. Problem figures

Answer figures

40. In a certain code SWITCH is written as TVJSDG thenCQFZE will be written as(1) BARED (2) BRAED(3) BREAD (4) BRADE

39. iz'u vkÑfr;k¡

mÙkj vkÑfr;k¡

40. fdlh dksM esa SWITCH dks TVJSDG fy[kk tkrk gS
rks CQFZE dks fy[kk tk;sxk(1) BARED (2) BRAED(3) BREAD (4) BRADE
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ANSWER	KEYS

1. (2)2. (1)3. (4)4. (4)5. (3)6. (4)7. (2)8. (1)9. (1)10. (4)11. (1)12. (1)13. (4)14. (1)15. (3)16. (1)17. (2)18. (1)19. (4)20. (1)

21. (3)22. (1)23. (4)24. (3)25. (1)26. (3)27. (1)28. (1)29. (4)30. (3)31. (2)32. (1)33. (3)34. (1)35. (2)36. (2)37. (1)38. (1)39. (4)40. (3)


